Fully-worked Solutions

10 Scale =length of scale drawing
length of object
CHAPTER J-! =3:9
. . =1:3
Summative Practice Answer: B
Section A
1 Scale =12:8 Section B
-1 .8 1 (a) POR =scale drawing
12 ABC = original object
_1 2 Scale =50:12.5
T3 125
Answer: C 50
- 1 . 1
2 Answer:D =7
(b) (i) The area of the scale drawing is k times the area
3 Scale =28:7 .. .
of the original object. -False
1 .
28 (ii) The area of the original object is k* times the
1 £ the scale drawi True
=1 n area of the scale drawing.
1 (iii) A scale of 1 : 0.5 means the scale drawing is
ne— :0.
4 2 times smaller than the original object.
Answer: A
2 (a) 2cm:500cm=1:250
4 Scale=16cm:80000cm=1:5000 lem:25m=1:2500
Width = 5(5 000) = 25 000 cm = 250 m 20m: 5 km =2 000 cm : 500 000 cm
Area = 800(250) =200 000 m® =1:250
Answer: D 40mm: 100cm=4cm: 100 cm
=1:25
5 Scale=3.6:x =1:5000 000 Thus, 2 cm : 500 cm and 20 m : 5 km are equivalent to 1 : 250.
X (®) @)
36° 5000 000
x=18000 000 cm + 100 000 = 180 km
Answer: D
6 Areaof scale drawing = 16
Actual area = 144
Length of sides of scale drawing = V16 =4 cm
Length of sides of actual square = V144
=12cm
Scale=4:12=1:3
Answer: A .
7 Scale=1:2500
Actual length =400 m =40 000 cm
I x
2500~ 40000 1:1 — same size
S _ (ii)
x= 2500><40000_ 16 cm
Answer: B
77 x
8 Scale = ﬁ = g
x =33cm
Answer: C
9 Scale=1: 1
cale=1:
Length of actual sides = 16(%) =4cm B
1
Length of actual base = 22<Z> =55cm
Perimeter of actual parallelogram
=55+55+4+4
=19cm 1 - . .
Answer: A . 1: > scale drawing is two times larger than the object
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Section C

2

1 Scale=1:1500
(a) Dimensions of room 1 in plan

=40cm %30 cm
Actual length
=40(1500) =60 000 cm =600 m
=30(1500)=45000cm =450 m
Dimensions of actual room
=600 m x450 m

(b) Dimensions of corridor = 60 cm X 20 cm

Dimensions of actual corridor
=60(1500) cm x 20(1 500) cm
=90 000 cm x 30 000 cm
Dimensions of corridor in m
=900 m x 300 m

Area =900(300) =270 000 m*
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Dimensions of wardrobe
=180mx90 m
=18000 cm x 9 000 cm
Dimensions of wardrobe in plan
18 000 9000
= 1500 <™ 1500
=12cmXx6cm
Dimensions of second floor on drawing
=60cmx60cm
Area = 60(60) =3 600 cm?
Dimensions of actual size
=60(1 500) cm x 60(1 500) cm
=90 000 cm x 90 000 cm
Area =90 000(90 000)
=8 100 000 000 cm?
Ratio =Actual area : scale drawing
=8 100 000 000 : 3 600
=2250000:1

cm

© EPH Publishing (M) Sdn. Bhd. (199801017497) 2025



